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BOOKS - RD SHARMA MATHS (ENGLISH)

CONTINUITY

Others

1. Discuss the continuity of the function ,ifx<2, ,ifx

at x=2

Watch Video Solution

f(x) = {2x − 1
3x

2
≥ 2

2. If 
is continuous at 
, then find 

Watch Video Solution

f(x) = , x ≠ 0
2x + 3 sinx

3x + 2 sinx
x = 0 f(0).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_O0DrPleSmHPO
https://dl.doubtnut.com/l/_Y0jNcCM9QE60
https://dl.doubtnut.com/l/_UH8l3uKxGWki


3. For what value of 
 is the function 

Watch Video Solution

k f(x) = { ,
x2 − 1
x − 1

, x ≠ 1, k, x = 1  continuous atx = 1?

4. Find the values of 
 and 
 so that the function 
 given by

, if 3 < x<5, 1 if x<=3, 7 if x > = 5
 is continuous at 

Watch Video Solution

a b f

f(x) = {ax + b

x = 3 and x = 5.

5. Let 
 . Find the value of 

at 
so that 
becomes continuous at 
.

Watch Video Solution

f(x) = ,   x ≠ 0
log(1 + ) − log(1 − )x

a
x

b

x
f

x = 0 f x = 0

https://dl.doubtnut.com/l/_UH8l3uKxGWki
https://dl.doubtnut.com/l/_N0KMDqHrga4l
https://dl.doubtnut.com/l/_LcPsj5FWXXWj


6. If 
 f(x)=k

Watch Video Solution

f(x) = { ,
cos2 x − sin2 x − 1

√x2 + 1 − 1
x ≠ 0, and

, x = 0  is continuous at x = 0, find k

7. Extend the definition of the following by continuity

Watch Video Solution

f(x) = at the pointx = π
1 − cos 7(x − π)

5(x − π)2

8. Find the value of a for which the function 
 defined by

 is
 continuous at

x=0

Watch Video Solution

f

f(x) = {a (x + 1), , x ≤ 0 , x > 0
sinπ

2

tanx − sinx

x3

https://dl.doubtnut.com/l/_6DTUy4MqlVWF
https://dl.doubtnut.com/l/_3xC2E7RrAC7z
https://dl.doubtnut.com/l/_38J3Rv4Qv7Tv


9. Show that  and 2-x if  is

discontinuous at x=1

Watch Video Solution

f(x) = {1 + x2, if 0 ≤ x ≤ 1 x > 1

10. Discuss continuity of f(x)=  at 

Watch Video Solution

⎧
⎨⎩

if 0 ≤ x ≤ 1

2x2 − 3x + if 1 < x ≤ 2

x2

2
3
2

x = 1

11. Examine the continuity of the function ,

 at 
Also sketch the graph of this function.

Watch Video Solution

f(x) = 3x − 2, x ≤ 0

f(x) = x + 1, x > 0 x = 0

12. Discuss the continuity of the function

 at

the point 

f(x) = x, if x > 0, f(x) = 1, if x = 0, f(x) = − x,   x < 0

x = 0

https://dl.doubtnut.com/l/_ceIMfYol7Kzk
https://dl.doubtnut.com/l/_Lx8zEivmLSYk
https://dl.doubtnut.com/l/_2o3rKxfuasCJ
https://dl.doubtnut.com/l/_7jBjPb45q3LU


Watch Video Solution

13. Discuss the continuity of the function 

Watch Video Solution

f(x) = { , x ≠ 00, x = 0
x

|x|

14. If 
 for 
 find the value which can be

assigned to 
 at 
 so that the function 
 becomes

continuous every where
in 

Watch Video Solution

f(x) =
tan( − x)π

4

cot 2x
x ≠ ,

π

4

f(x) x =
π

4
f(x)

[0, ].
π

2

15. Determine the value of 
 for which the function



 , 

Watch Video Solution

a, b, c

f(x) = { c
sin(a + 1)x + sinx

x

√x + bx2 − √x

bx
3
2

fx < 0f or x = 0iscont ∈ uousatx = 0f or x > 0

https://dl.doubtnut.com/l/_7jBjPb45q3LU
https://dl.doubtnut.com/l/_4psSsTxNnyAl
https://dl.doubtnut.com/l/_5VSbNNlfAnzV
https://dl.doubtnut.com/l/_ULQzMaRY251W


16. Show that 

Watch Video Solution

f(x) = , when x ≠ 0
x − |x|

2

f(x) = 2 when x = 0 is discontinuous at x = 0

17. Find the relationship between 
and 
so that the function 
defined

by
 
 is continuous at

Watch Video Solution

a b ' f'

f(x) = {ax + 1, if x ≤ 3bx + 3, if x < 3

x = 3.

18. If 
 Find whether 


is continuous at 

Watch Video Solution

f(x) = , whenx ≠ 0, f(x) = 1, whenx = 0
sin 3x

x

f(x) x = 0

https://dl.doubtnut.com/l/_u3Cd2XePnT7b
https://dl.doubtnut.com/l/_MgMKV6hWxpMW
https://dl.doubtnut.com/l/_UZXI6EX8NY1n


19. Prove that the function 
 is

everywhere continuous.

Watch Video Solution

f(x) = { , x < 0x + 1, x ≥ 0
sinx

x

20. Let 
 .

Show that 
is discontinuous at 
.

Watch Video Solution

f(x) = ,    when x ≠ 0,  f(x) = 1,    when x = 0
1 − cos x

x2

f(x) x = 0

21. If 
 
Find whether 
 is continuous

at 

Watch Video Solution

f(x) = {e , 1
1
x if x ≠ 0 if x = 0 f

x = 0.

22. Test the continuity of the following function at the origin;

f(x) = { , x ≠ 0 and 1, x = 0
x

|x|

https://dl.doubtnut.com/l/_CaSrQvoJMxYM
https://dl.doubtnut.com/l/_GrYjLdWX9XdO
https://dl.doubtnut.com/l/_UwbZ2sqnc5Um
https://dl.doubtnut.com/l/_E7EqD158U23T


Watch Video Solution

23. The function
 
is continuous on


Find the most suitable values of
 
and 

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

if 0 ≤ x < 1

a if 1 ≤ x < √2

if √2 ≤ x < ∞

x2

a

2b2 − 4b

x2

[0, ∞). a b.

24. A function 
 is defined as


 Show that 
 is

continuous at 

Watch Video Solution

f(x)

f(x) = { ; if x ≠ 3 and 5 if x = 3
x2 − x − 6

x − 3
f(x)

x = 3.

25. Find the domain of 

Watch Video Solution

f(x) = sin− 1 x + cos x

https://dl.doubtnut.com/l/_E7EqD158U23T
https://dl.doubtnut.com/l/_zOQA8lCSsr3G
https://dl.doubtnut.com/l/_mx9mPNSzAdnr
https://dl.doubtnut.com/l/_2AQRDkbDoNcX
https://dl.doubtnut.com/l/_EJDld9sJfgj8


26. If , prove that : 

Watch Video Solution

y = (x − 1)log(x − 1) − (x + 1)log(x + 1)

= log( )
dy

dx

x − 1

1 + x

27. The value of 
 , so that the function


becomes continuous for
all 

, given by
 
(b) 
(c) 
(d) 

Watch Video Solution

f(0)

f(x) =
√a2 − ax + x2 − √a2 + ax + x2

√a + x − √a − x
x

a3 / 2 a1 / 2 −a1 / 2 −a3 / 2

28. The value of a for which the function

 is continous at every point of

its domain is

A. 

B. 

f(x) = {
5x − 4 if 0 < x ≤ 1

4x2 + 3ax if 1 < x < 2
}

13

3

1

https://dl.doubtnut.com/l/_EJDld9sJfgj8
https://dl.doubtnut.com/l/_SEV6HnpeUeDT
https://dl.doubtnut.com/l/_EA5INKVuYkoi


C. 

D. 

Answer: null

Watch Video Solution

0

−1

29. Evaluate : 

Watch Video Solution

tan(cos − 1( − ))
7
25

30. The function 
 is discontinuous on the set


(b) 
 
(d) 

Watch Video Solution

f(x) = tanx {nπ; n ∈ Z}

{2nπn ∈ Z} {(2n + 1) : n ∈ Z}
π

2
{ : n ∈ Z}
nπ

2

31. If 
 , then at 
 
 is continuous and 


(b) 
is continuous and 
 (c) 

f(x) = ∣∣(log)10x∣∣ x = 1 f(x)

f ′ (1+ ) = (log)10e f(x) f ′ (1+ ) = − (log)10e

https://dl.doubtnut.com/l/_EA5INKVuYkoi
https://dl.doubtnut.com/l/_BzrJUjDapwOA
https://dl.doubtnut.com/l/_nHHJhFyHhmZt
https://dl.doubtnut.com/l/_iFKwTrLUNQwN



 is continuous and 
 (d) 
 is continuous and 

Watch Video Solution

f(x) f ′ (1− ) = (log)10e f(x)

f ′ (1+ ) = − (log)10e

32. If the function
 
 is continuous at 


, then the value of 
is
 
(b) 
(c) 
(d) 

Watch Video Solution

f(x) = {(cos x) , x ≠ 0k, x = 0
1
x

x = 0 k 0 1 −1 e

33. If 
 be continuous at 
 the 
 is equal to

(a) 
(b) 
(c) 
(d) none of these

Watch Video Solution

f(x) = (x + 1)cot x
x = 0, f(0)

0
1

e
e

34. If 
 is continuous at 


then

Watch Video Solution

f(x) = {mx + 1, x ≤ sinx + n, x >
π

2

π

2

x = ,
π

2

https://dl.doubtnut.com/l/_iFKwTrLUNQwN
https://dl.doubtnut.com/l/_jJ0pBGjJSqeV
https://dl.doubtnut.com/l/_yjtSZkfVP3ve
https://dl.doubtnut.com/l/_d5oDYIUu1XoS


35. If 
 is continuous at 
 then 

equal
(A)  (B) 
(C) 
(D) none of these

Watch Video Solution

f(x) = {
x ≠ 0

k x = 0
)

36x − 9x − 4x + 1

√2 − √1 + cos x x = 0, k

16√2 log 2 log 3 16√2 ln 6 16√2 ln 2In3

36. If


then the value of a so that 
 may be continuous at
 
 25 (b)


(c) 1
(d) indeterminate

Watch Video Solution

f(x) = { , x < 0 , x > 0, x = 0
1 − cos 10x

x2a

√x

√625 + √x − 25

f(x) x = 0, is

−1

37. If
 
 is continuous at 
then 


is equal to

A. (a) 

f(x) =
⎧
⎨
⎩

x ≠

k x =

sin ( cos x ) − cos x

( π− 2x ) 2

π

2

π

2

x = ,
π

2

k

0

https://dl.doubtnut.com/l/_d5oDYIUu1XoS
https://dl.doubtnut.com/l/_vrPvuibzrteg
https://dl.doubtnut.com/l/_NSspnYgmcIUA
https://dl.doubtnut.com/l/_XeK2kGoygmZT


B. (b) 

C. (c) 

D. (d) 

Answer: null

Watch Video Solution

1

2

1

−1

38. Discuss the continuity of the function 
 given by

Watch Video Solution

f(x)

f(x) = {2x − 1, if x < 0 and 2x + 1, if x ≥ 0

39. The value of a for which the function


may be continuous at 
is :

A. (a) 1

f(x) =

⎧⎪
⎪
⎨
⎪
⎪⎩

x ≠ 0

12(log 4)
3

x = 0

( 4x − 1 ) 3

sin ( ) log(1 + )x

a

x2

3 x = 0

https://dl.doubtnut.com/l/_XeK2kGoygmZT
https://dl.doubtnut.com/l/_OgBrAyu32kde
https://dl.doubtnut.com/l/_8hSGFpLbHxMD


B. (b) 2

C. (c) 3

D. (d)
none of these

Answer: null

Watch Video Solution

40. If  then the value of  for which 

 cannot be continuous at  is (a)  (b) (c)  (d)

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

ax2 + b 0 ≤ x < 1

4 x = 1

x + 3 1 < x ≥ 2

⎞
⎟
⎠

(a, b)

f(x) x = 1, (2, 2) (3, 1) (4, 0)

(5, 2)

41. If , if , k if  is continuous at  ,

find k

Watch Video Solution

f(x) = {
2x+ 2 − 16

4x − 16
x ≠ 2 x = 2 x = 2

https://dl.doubtnut.com/l/_8hSGFpLbHxMD
https://dl.doubtnut.com/l/_ShYwIGq7rgGc
https://dl.doubtnut.com/l/_nY90c0DUVqPr


42. Let

Determine the value of 
so that 
is continuous at 

Watch Video Solution

f(x) = { , if x < 0 , if x > 0, if x = 0
1 − cos 4x

x2a,

√x

√16 + √x − 4

a f(x) x = 0.

43. if the function 
 defined by f(x)=  , if 

 and k if x=0 is continuous at x=0 , find k.

Watch Video Solution

f(x)
log(1 + ax) − log(1 − bx)

x

x ≠ 0

44. Find the value of a if the function 
 defined by

 if function continuous at 

Watch Video Solution

f(x)

f(x) = {2x − a, , x ≤ 2, x + 1, x > 2 x = 2

https://dl.doubtnut.com/l/_nY90c0DUVqPr
https://dl.doubtnut.com/l/_KoxbYL3xe3RC
https://dl.doubtnut.com/l/_5bGfNk1GrcXm
https://dl.doubtnut.com/l/_IJ3hNj45qnA3


45. Find the value of the
 constant 
 so that the function
 given below is

continuous at 
 .


Watch Video Solution

k

x = 0

f(x) = { ,    x ≠ 0        k,              x = 0
1 − cos 2x

2x2

46. Discuss the continuity
 of the 
 at the indicated point:


at 
.

Watch Video Solution

f(x)

f(x) = |x| + |x − 1| x = 0,  1

47. Leg 
 If 


is continuous at all 

Watch Video Solution

f(x + y) = f(x) + f(y)f or allx, y ∈ R,

f(x)iscont ∈ uousatx = 0, showthatf(x) x.

https://dl.doubtnut.com/l/_9e3KlrRbXrLH
https://dl.doubtnut.com/l/_OI0UTaS0JaMW
https://dl.doubtnut.com/l/_FwtlFi0XtNgx


48. If 
 Find the value of 
 so that 


becomes continuous at 

Watch Video Solution

f(x) = , x ≠ .
√2 cos x − 1

cot x − 1

π

4
f( )

π

4

f(x) x = .
π

4

49. Determine 
 so that the function 
 defined by


becomes continuous at 

Watch Video Solution

f(0) f(x)

f(x) =
(4x − 1)

3

log(1 + )sin x

4
x2

3

x = 0

50. The function
`f(x)={x^2a a,if1lt=x

Watch Video Solution

51. Iff(x)={(x-4)/(|x-4|)+a,ifx<4
a+b,if x = 4
(x-4)/(|x-4|)+b,if x >4 is continuous

at x=4find a,b`

Watch Video Solution

https://dl.doubtnut.com/l/_V49WNqgvufG6
https://dl.doubtnut.com/l/_aiczn9pC05GH
https://dl.doubtnut.com/l/_HUxrhdAWCZLV
https://dl.doubtnut.com/l/_wO14H6myvKvG


Watch Video Solution

52. Prove that the function 

remains discontinuous at ,
regardless the choice of 

Watch Video Solution

f(x) = { , x ≠ 0 and k, x = 0
x

|x| + 2x2

x = 0 k

53. Show that

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

if x < 0

if x = 0

if x > 0

 is continuous at x = 0

sin 3x
tan 2x

3
2

log ( 1 + 3x )

e2x − 1

54. Find all point of discountinuity of the function ,

where .

Watch Video Solution

f(t) =
1

t2 + t − 2

t =
1

x − 1

https://dl.doubtnut.com/l/_wO14H6myvKvG
https://dl.doubtnut.com/l/_UOi8u23lGZWf
https://dl.doubtnut.com/l/_2rvTdGORK8Zj
https://dl.doubtnut.com/l/_3MnlPiAVsmRC
https://dl.doubtnut.com/l/_LahATwyJ7Hla


55. Given the function . Find the points of discontinuity of

the function 

Watch Video Solution

f(x) =
1

x + 2

f(f(x))

56. If 
 where 
 is continuous function, then
 (a) 


 (b) 
 (c) 
 (d) none

of these

Watch Video Solution

f(x) = |x − a|φ(x), φ(x)

f ′ (a+ ) = φ(a) f ′ (a− ) = − φ(a) f ′ (a+ ) = f ′ (a− )

57. Let
 
 Find the value of 

at 
so that 
becomes continuous at 

Watch Video Solution

f(x) = , x ≠ 0.
log(1 + ) − log(1 − )x

a
x

b

x
f

x = 0 f x = 0

https://dl.doubtnut.com/l/_LahATwyJ7Hla
https://dl.doubtnut.com/l/_TMvKnd6NKrDY
https://dl.doubtnut.com/l/_5xDiBnlaDF8y


58. Let 
 . The value which should be

assigned to 
at 
so that it is continuous everywhere is
 (a) 

(b) 
(c) 2
(d) none of these

Watch Video Solution

f(x) = , x ≠
tan( − x)π

4

cot 2x

π

4

f(x) x = ,
π

4
1

1

2

59. The function 
 is not defined for 

In order to make 
continuous at 
should be defined as
0

(b)
1 (c) 2
(d) 3

Watch Video Solution

f(x) =
x3 + x2 − 16x + 20

x − 2
x = 2.

f(x) x = 2, f(2)

60. The value of 
 for which the function


 and continuous at 

Watch Video Solution

b

f(x) = {5x − 4, 0x ≤ 1, 4x2 + 3bx, 1 < x < 2

x = 1

https://dl.doubtnut.com/l/_Ja4BPzNMLP0P
https://dl.doubtnut.com/l/_5Q7zPUp9jJ2i
https://dl.doubtnut.com/l/_MbhZpBAqroDm
https://dl.doubtnut.com/l/_GF949FgpXHE8


61. If 
then the set of points discontinuity of the function 


{1} (b) {0,1} (c)
{-1,1} (d) none of
these

Watch Video Solution

f(x) = ,
1

1 − x

f(f(f(x)))is

62. If the function 
 defined by f(x)= , 

 and k , x=0.
Find k.

Watch Video Solution

f(x)
log(1 + 3x) − log(1 − 2x)

x

x ≠ 0

63. Show that  , 
  , 

continuous at 

Watch Video Solution

f(x) = 5x − 4 0 < x < 1 f(x) = 4x3 − 3x 1 < x < 2

x = 1

64. If
 
 is

continuous at 
, then a equal
(a) 
(b) 
(c) 
(d) 

f(x) = {a (x + 1), , x ≤ 0 , x > 0
sinπ

2

tanx − sinx

x3

x = 0
1

2

1

3

1

4

1

6

https://dl.doubtnut.com/l/_GF949FgpXHE8
https://dl.doubtnut.com/l/_4akVxMeasOJL
https://dl.doubtnut.com/l/_FxlBe2IC8Ltl
https://dl.doubtnut.com/l/_PLFXE6Hx4zoY


Watch Video Solution

65. If ,when  and 
the 
will be

continuous function at ,where 
 (a) 
 (b) 
 (c) 
 (d) none

of these

Watch Video Solution

f(x) =
1 − sinx

(π − 2x)2
x ≠

π

2
f( ) = λ,

π

2
f(x)

x =
π

2
λ = ?

1

8

1

4

1

2

66. The value of 
 which makes  ,

continuous at ,is
(a) 8 (b) 1
(c) 
(d) none of these

Watch Video Solution

k f(x) = { , x ≠ 0, and k, x = 0
sinx

x

x = 0 −1

67. Show that the function 
is continuous at 

Watch Video Solution

f(x) = 2x − |x| x = 0.

https://dl.doubtnut.com/l/_PLFXE6Hx4zoY
https://dl.doubtnut.com/l/_eXf93bjhgpWu
https://dl.doubtnut.com/l/_RLwPbUDkEJIp
https://dl.doubtnut.com/l/_ql21tII0T9dK


68. If the function 
 is continuous at each point of

its domain, then the value of 
(A) 
(B) 
(C) 
(D) 

Watch Video Solution

f(x) =
2x − sin− 1 x

2x + tan− 1 x

f(0)
4
3

1

3
−

1

3

2

3

69. Let 
 Then, 


 is continuous at 
 when
 (a) 
 (b) 
 (c)


(d) 

Watch Video Solution

f(x) = { + a, x < 0 + b, x > 0
x − 4

|x − 4|a + b

x − 4

|x − 4|

f(x) x = 4 a = 0, b = 0 a = 1, b = 1

a = − 1, b = 1 a = 1, b = − 1

70. , x!=1,2 & 6, x=1 & 12 , x = 2 then 
 is

continuous on the set`
(a) R (b) R-{1}
(c) R-{2}
(d) R-{1,2}

Watch Video Solution

Letf(x) = {
x4 − 5x2 + 4

|(x − 1)(x − 2)|
f(x)

https://dl.doubtnut.com/l/_qACyIIjVCImx
https://dl.doubtnut.com/l/_fDauLmXVEz7D
https://dl.doubtnut.com/l/_LkHBCnRrDkEY


71. Let  is continous at  then 

 is equal to:

Watch Video Solution

f(x) =
⎧⎪
⎨
⎪⎩

(1 + ax)1 /x
x < 0

x > 0
,( x+ c ) 1 / 3 − 1

( x+ 1 ) 1 / 2 − 1

x = 0,

3(ea + b + c)

72. Determine the value of the constant 
 so that the function


is continuous.

Watch Video Solution

m

f(x) = {m(x2 − 2x), if x < 0 cos x, if x ≥ 0

73. The value of 
 so that the function 


 is continuous, is given by
 (a) 
 (b)

6
(c) 2 (d) 4

Watch Video Solution

f(0),

f(x) = (x ≠ 0)
(27 − 2x) − 3

1
3

9 − 3(243 + 5x)1 / 5

2

3

https://dl.doubtnut.com/l/_RmidLxVepsU4
https://dl.doubtnut.com/l/_Py9atmL01nks
https://dl.doubtnut.com/l/_WiS4oF9RXLYJ


74. The function 
 (a)is continuous at 


 (b)is not continuous at 
 (c)is not continuous at 
but

can be made continuous at 
(d) none of these

Watch Video Solution

f(x) = { , x ≠ 00, x = 0
e − 1

1
x

e + 1
1
x

x = 0 x = 0 x = 0,

x = 0

75. The points of discontinuity of the function `f(x)={2sqrt(x),0<=x<=l. 4-2x,1

< x

Watch Video Solution

76. If f(x)=  for 
 find the value of which can be

assigned to f(x)
at 
so that the function f(x)
becomes continuous

every where in 

Watch Video Solution

tan( − x)π

4

cot 2x
x ≠ ,

π

4

x =
π

4

[0, ]
π

2

https://dl.doubtnut.com/l/_Wq7WAH9myLNP
https://dl.doubtnut.com/l/_jp1wgrK1OqIa
https://dl.doubtnut.com/l/_CPcgIILUxfHo


77. Find the values of a and b so that the function f(x) defined by f(x)={(x^2

+ax+b),(0<=x<2),(3x+2) , (2<=x<=4), (2a x+5b), (4 < x <= 8)} becomes

continuous on [0,pi].

Watch Video Solution

78. 
 is

continuous in the interval 
then 
is equal to
 
 (b) 
 (c) 

(d) 1

Watch Video Solution

f(x) = { , − 1 ≤ x < 0 , 0 ≥ x ≥ 1
√1 + px − √1 − px

x

2x + 1

x − 2

[ − 1, 1], p −1 −
1

2

1

2

79. The value of 
 so that the function


is continuous everywhere, is given by

A. (a) 1

B. (b) 1

f(0)

f(x) = , x ≠ 0
2 − (256 − 7x)

1
8

(5x + 32)1 / 5 − 2

−

https://dl.doubtnut.com/l/_8caZNYEO9nRI
https://dl.doubtnut.com/l/_P4r2tasn0nmH
https://dl.doubtnut.com/l/_iqoV97HmEqZy


C. (c) 26

D. (d) none of these

Answer: null

Watch Video Solution

80. Find k if the function 
 is

continuous at `x=0 . (a)3 (b)
6 (d) 9 (d) 12

Watch Video Solution

f(x) = { , x ≠ 0; , x = 0
sin 3x

x

k

2

81. Discuss the continuity of the function

Watch Video Solution

f(x) = { , if x < 0, x + 2, if x ≥ 0
sin 2x

x

https://dl.doubtnut.com/l/_iqoV97HmEqZy
https://dl.doubtnut.com/l/_YfVgQ6jRv4Bc
https://dl.doubtnut.com/l/_65fMyYK5NIXM


82. Test the continuity of the following function at the origin:

Watch Video Solution

f(x) = { ; x ≠ 0, 1; x = 0
|x|

x

83. Show that the function 
given by
  is

continuous at x = 0

Watch Video Solution

f(x) f(x) = {
x sin( ) x ≠ 0

0 x = 0

1
x

84. Show that the function 
 given by


is continuous at 

Watch Video Solution

f(x)

f(x) = { + cos x, x ≠ 0 and 2, x = 0
sinx

x
x = 0.

https://dl.doubtnut.com/l/_SgluTdjbiAVe
https://dl.doubtnut.com/l/_qaXh3Pwoum3Z
https://dl.doubtnut.com/l/_EFKWy3Ntm4c1


85. Examination the function 
 given by ;

for continuity at 

Watch Video Solution

f(x) f(x) = {
x ≠

1 x =

cos x

−x
π

2

π

2

π

2

x =
π

2

86. Discuss the continuity of the function 
 given by

Watch Video Solution

f(x)

f(x) = {
2 − x x < 0

2 + x x ≥ 0
 at x = 0

87. Determine the values of 
 for which the function


 is continuous at 

Watch Video Solution

a, b, c

f(x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

x < 0

c x = 0

x > 0

sin ( a+ 1 ) x+ sin x

x

√x+ bx2 − √x

bx
3
2

x = 0

https://dl.doubtnut.com/l/_DFGBkzQcX0Cz
https://dl.doubtnut.com/l/_9IhPhyGLchhr
https://dl.doubtnut.com/l/_BYOGKdd3NKrG


88. If  is continuous at x=0, find k

Watch Video Solution

f(x) = {
x ≠ 0

x = 0

1 − cos kx
x sin x

1
2

89. Discuss the continuity of the function of given by

Watch Video Solution

f(x) = |x − 1| + |x − 2| at x = 1 and x = 2

90. Determine the value of 
 for which the following function is

continuous at 
  ,  and k when 

Watch Video Solution

k

x = 3. f(x) = {
x2 − 9

x − 3
x ≠ 3 x = 3

91. Let 
then

A. (a) 
is continuous at 
as well at 

f(x) = |x| + |x − 1|,

f(x) x = 0, x = 1

https://dl.doubtnut.com/l/_X0so1oGarzBQ
https://dl.doubtnut.com/l/_UUdp0aGaU0ak
https://dl.doubtnut.com/l/_nRTY2GXQ4gYT
https://dl.doubtnut.com/l/_SuDPppKEPhs2


B. (b) 
is continuous at 
but not at 

C. (c) 
is continuous at 
but not at 

D. (d)none of these

Answer: null

Watch Video Solution

f(x) x = 0, x = 1

f(x) x = 1, x = 0

92. The function 
 a)discontinuous at only one point
 b)

discontinuous exactly at two points
 c)discontinuous exactly at three

points
d) none of these

Watch Video Solution

f(x) =
4 − x2

4x − x3

93. If 
 defined by .
 Then (A)f(x) is

continuous for all 
 (B) for all  except 
 (C) for all  except 

(D) for all  except  and 

W t h Vid S l ti

f(x) f(x) = { , x ≠ 0, 1 − 1
∣∣x2 − x∣∣

x2 − |x|

x x x = 0 x x = 1

x x = 0 x = 1

https://dl.doubtnut.com/l/_SuDPppKEPhs2
https://dl.doubtnut.com/l/_KDRYayAc9haj
https://dl.doubtnut.com/l/_O9VWjTxvfkV8


Watch Video Solution

94. Discuss the continuity of the 
 at the indicated points:

 at 
  at 

Watch Video Solution

f(x)

f(x) = |x| ∣ |x − 1| x = 0, 1 f(x) = |x − 1| + |x + 1|

x = − 1, 1

95. Prove that 
is continuous for all 

Watch Video Solution

f(x) = √|x| − x x ≥ 0.

96. Given .
 Find the points of discontinuity of the

composite function .

Watch Video Solution

f(x) =
1

x − 1

f(f(x))

https://dl.doubtnut.com/l/_O9VWjTxvfkV8
https://dl.doubtnut.com/l/_cvzpSZ0KNO9Y
https://dl.doubtnut.com/l/_ph441ttabJ8F
https://dl.doubtnut.com/l/_wKb7RKTqx5s9


97. Test the continuity of the following function at the origin:

Watch Video Solution

f(x) = { ; x ≠ 01; x = 0
|x|

x

98. Show that the function 
 given by

Watch Video Solution

f(x)

f(x) = {x , x ≠ 00, x = 0
sin 1

x

99. Show that the function 
 given by


 ,mmm m m is

continuous at 
.

Watch Video Solution

f(x)

f(x) = { + cos x,   x ≠ 02,                        x = 0
sinx

x

x = 0

https://dl.doubtnut.com/l/_0dixfAUQJ5be
https://dl.doubtnut.com/l/_mLsRcMlTAQuo
https://dl.doubtnut.com/l/_9I2AwbUEWnp3


100. Examine the function 
 given by


 for
 continuity at 


.

Watch Video Solution

f(t)

f(t) = { ;    t ≠ π/2;  1  at         t = π/2
cos t

π/2 − t

t = π/2

101. Show that the function 
given by 

is
discontinuous at 
.

Watch Video Solution

f(x) f(x) =
⎧⎪
⎨
⎪⎩

whenx ≠ 0

0 whenx = 0

e − 1
1
x

e + 1
1
x

x = 0

102. Discuss the continuity
 of the function 
 at 
 , where


Watch Video Solution

f(x) x = 1/2

f(x) =

⎧⎪
⎪
⎪
⎨
⎪
⎪
⎪⎩

0 ≤ x <

1 x =

< x ≤ 1

⎫⎪
⎪
⎪
⎬
⎪
⎪
⎪⎭

1
2 −x

1
2

1
2

3
2 −x

1
2

https://dl.doubtnut.com/l/_DhWQ2wg9rxUe
https://dl.doubtnut.com/l/_5pQudVPb3IJu
https://dl.doubtnut.com/l/_Awr7k0QFPK2w
https://dl.doubtnut.com/l/_iE61IJvZGUFk


103. Discuss the continuity
 of the function 
 given by


at 
.

Watch Video Solution

f(x)

f(x) = {2 − x;    x < 22 + x;    x ≥ 2 x = 2

104. Show that , when  , when 

 is continuous at 

Watch Video Solution

f(x) = {5x − 4 0 < x ≤ 1, 4x3 − 3x

1 < x < 2 x = 1.

105. Show that the function 
is continuous at 
.

Watch Video Solution

f(x) = 2x − |x| x = 0

106. Discuss the continuity
 of the function of given by


at 
and 
.

Watch Video Solution

f(x) = |x − 1| + |x − 2| x = 1 x = 2

https://dl.doubtnut.com/l/_iE61IJvZGUFk
https://dl.doubtnut.com/l/_gMD7hOLtx3Zc
https://dl.doubtnut.com/l/_lwRPPV4jMi22
https://dl.doubtnut.com/l/_nCBUac2cCzs0


107. Determine the value of 
 for which the following
 function is

continuous at 


Watch Video Solution

k

x = 3. f(x) = { ,    x ≠ 3,   f(x) = k, x = 3
x2 − 9

x − 3

108. Find the value of the
constant 
so that the function
given below is

continuous at 

Watch Video Solution

λ

x = − 1

f(x) = { ,    x ≠ − 1          λ,              x = − 1
x2 − 2x − 3

x + 1

109. Find the value of 
so that the function
given below is continuous

at 


Watch Video Solution

f(0)

x = 0 f(x) =
1 − cos 2x

2x2

https://dl.doubtnut.com/l/_DeVm3enOdB9F
https://dl.doubtnut.com/l/_8EhCkTVLV5AL
https://dl.doubtnut.com/l/_tMNaDL07Gxul


110. Find the value of 
 if the function 
 defined by 


 is

continuous
at 

Watch Video Solution

' a' f(x)

f(x) = {2x − 1,    x < 2    and  a,         x = 2x + 1,     x > 2

x = 2

111. If the function 
 defined by

is continuous at 
, find 
.

Watch Video Solution

f(x)

f(x) = { ,     if  x ≠ 0            k,                       i
log(1 + ax) − log(1 − bx)

x

x = 0 k

112. Find the values of 
 so that the function 
 defined by 


may be continuous at 
.

Watch Video Solution

' a' f(x)

f(x) = { ,    x ≠ 0   1,          x = 0
sin2 ax

x2
x = 0

https://dl.doubtnut.com/l/_Z7I6f3zilBs4
https://dl.doubtnut.com/l/_TNsFNBjFBAiZ
https://dl.doubtnut.com/l/_oI73zdap6xlo


113. If the function 
 given by

is continuous at 
, find the values of 
and 
.

Watch Video Solution

f(x)

f(x) = {3ax + b,     if  x > 1         11, if x = 1   5ax − 2b, if x < 1

x = 1 a b

114. Let

Determine the value of 
so that 
is continuous at 

Watch Video Solution

f(x) = { ,     if  x < 0a,     if  x = 0 ,     if
1 − cos 4x

x2

√x

√16 + √x − 4

a f(x) x = 0.

115. Determine 
 so that the function 
 defined by


becomes continuous at 

Watch Video Solution

f(0) f(x)

f(x) =
(4x − 1)

3

log(1 + )sin x

4
x2

3

x = 0

https://dl.doubtnut.com/l/_HljYiYX22ocw
https://dl.doubtnut.com/l/_Ht0wHB4HmPpV
https://dl.doubtnut.com/l/_swLi8fyw7LDX
https://dl.doubtnut.com/l/_xAMJ8Ons2Ub3


116. If 
 , 
 . Find the value of 
 so that 


becomes continuous at 
.

Watch Video Solution

f(x) =
√2 cos x − 1

cot x − 1
x ≠

π

4
f( )

π

4

f(x) x = π/4

117. Prove that the greatest
 integer function 
 is continuous at all

points except at integer points.

Watch Video Solution

[x]

118. Leg 
 If 


is continuous at all 

Watch Video Solution

f(x + y) = f(x) + f(y)f or allx, y ∈ R,

f(x)iscont ∈ ueatx = 0, showthatf(x) x.

119. Show that the function  is continuous at 

.

Watch Video Solution

f(x) = |sinx + cos x|

x = π

https://dl.doubtnut.com/l/_xAMJ8Ons2Ub3
https://dl.doubtnut.com/l/_Yz3WoF5IFYVX
https://dl.doubtnut.com/l/_ZHQltF9iwkok
https://dl.doubtnut.com/l/_PVkGUWKFVOgJ


120. Does there exists value of f(0) such that the following function

becomes continuous at the origin


Watch Video Solution

f(x) = { , x ≠ 0
x

|x|

121. A function 
 is defined as


 Show that 


is continuous at 
.

Watch Video Solution

f(x)

f(x) = { ;     if  x ≠ 3      5;         if  x = 3
x2 − x − 6

x − 3

f(x) x = 3

122. A function 
 is defined as


 Show that 
 is

continuous at 
.

Watch Video Solution

f(x)

f(x) = { ;     if  x ≠ 3   6;       if  x = 3
x2 − 9
x − 3

f(x)

x = 3

https://dl.doubtnut.com/l/_PVkGUWKFVOgJ
https://dl.doubtnut.com/l/_MY04O4oHwsSi
https://dl.doubtnut.com/l/_gT4oDn8hpQJc
https://dl.doubtnut.com/l/_xswIr2TQDdNv
https://dl.doubtnut.com/l/_TQF2uaNpHaFB


123. If or or  Find whether 
is

continuous at 

Watch Video Solution

f(x) = { ;  f
x2 − 1

x − 1
 x ≠ 1;    2 f  x = 1. f(x)

x = 1.

124. If 
 . Find whether 


is continuous at 
.

Watch Video Solution

f(x) = { ,    when x ≠ 01,    when x = 0
sin 3x

x

f(x) x = 0

125. If 
 . Find whether 
 is

continuous at 

Watch Video Solution

f(x) = {e1 /x,     if  x ≠ 01,     if  x = 0 f

x = 0

126. Let 
 . Show

that 
is discontinuous at 
.

f(x) = { ,    when x ≠ 0; 1,     when x = 0
1 − cos x

x2

f(x) x = 0

https://dl.doubtnut.com/l/_TQF2uaNpHaFB
https://dl.doubtnut.com/l/_AJIWzaDGWSTA
https://dl.doubtnut.com/l/_7xhBBvCNV2KZ
https://dl.doubtnut.com/l/_MyyhJdbkviYa


Watch Video Solution

127. Show that 



is discontinuous at 
.

Watch Video Solution

f(x) = { ,    when x ≠ 0
x − |x|

2

                                       2,    when x = 0 x = 0

128. Show that

is discontinuous at  for any value of f(a)

Watch Video Solution

f(x) = { ,    when x ≠ a                                                                           
|x − a|

x − a

x = a

129. Discuss the continuity
 of 

at 

Watch Video Solution

f(x) = {|x|cos( ),    x ≠ 00,     x = 0
1

x

x = 0

https://dl.doubtnut.com/l/_MyyhJdbkviYa
https://dl.doubtnut.com/l/_plWmkX9pKjGY
https://dl.doubtnut.com/l/_lq7RpSpU9hv6
https://dl.doubtnut.com/l/_ymV0ol07rXYP
https://dl.doubtnut.com/l/_6flFLQkeJrlb


130. Discuss the differentiability
 of ; 0 if

x=0
at 

Watch Video Solution

f(x) = {x2 sin( ),     x ≠ 0
1

x

x = 0

131. Discuss the continuity
 of


 at 

Watch Video Solution

f(x) = {(x − a)sin( ),    x ≠ a            0,                        x = a
1

x − a

x = a

132. 
 at 

Watch Video Solution

f(x) = { ,     if  x ≠ 0         7,             if  x = 0
ex − 1

log(1 + 2x)

x = 0

133. 
at f(x) = { ,   (x ≠ 1, (n − 1)atx = 1, n ∈ N
1 − xn

1 − x
x = 1

https://dl.doubtnut.com/l/_6flFLQkeJrlb
https://dl.doubtnut.com/l/_6z0aHYDQ5k0I
https://dl.doubtnut.com/l/_KJk2jpCLIVKl
https://dl.doubtnut.com/l/_ZI90LTd0SMB2


Watch Video Solution

134.  for  for 
at 

Watch Video Solution

f(x) = { ,   
∣∣x2 − 1∣∣

x − 1
x ≠ 1    2,  x = 1 x = 1

135. 
at  is continuous at x =

0 or not.

Watch Video Solution

f(x) = { ,    x ≠ 0,     and 0
2|x| + x2

x
x = 0

136. 
 at 

Watch Video Solution

f(x) = {|x − a|sin( ),    f or  x ≠ a,    0    if  x = a
1

x − a

x = a

https://dl.doubtnut.com/l/_ZI90LTd0SMB2
https://dl.doubtnut.com/l/_zCQopL3A9IoS
https://dl.doubtnut.com/l/_2YsJqzT037cv
https://dl.doubtnut.com/l/_kikQ8RimhWVy


137. Show that 
 is

discontinuous at 
.

Watch Video Solution

f(x) = {1 + x2, if 0 ≤ x ≤ 1, 2 − x,     if  x > 1

x = 1

138. Show that

is continuous at 

Watch Video Solution

f(x) = { ,     if  x < 0,   ,     if  x = 0, ,     if  x
sin 3x

tan 2x

3

2

log(1 + 3x)

e2x − 1

x = 0

139. Find the value of 
 for which the function 
 defined by 


 is continuous

at 
.

Watch Video Solution

' a ′ f

f(x) = {a (x + 1),    x ≤ 0 ,    x > 0
sinπ

2

tanx − sinx

x3

x = 0

https://dl.doubtnut.com/l/_bbFnBa2qPKSu
https://dl.doubtnut.com/l/_siC0fWpOUESN
https://dl.doubtnut.com/l/_QmGPgVhKVTBl


140. Examine the continuity
 of the function


at 
. Also sketch the graph

of this function.

Watch Video Solution

f(x) = {3x − 2,    x ≤ 0x + 1,    x > 0 x = 0

141. Discuss the continuity
 of the function


at the point 
.

Watch Video Solution

f(x) = {x,    x > 0,    1, x = 0, − x,    x < 0 x = 0

142. Discuss the continuity
 of the function f(x)= 
 at

the point 
.

Watch Video Solution

⎧⎪⎪⎪
⎨
⎪⎪⎪⎩

x 0 ≤ x <

12 x =

1 − x < x ≤ 1

1
2

1
2

1
2

x = 1/2

https://dl.doubtnut.com/l/_6uZv8UCJleNZ
https://dl.doubtnut.com/l/_ggOWm3n7Fd6T
https://dl.doubtnut.com/l/_C6dm2zF0VJ5D


143. Discuss the continuity
of 

at 

Watch Video Solution

f(x) = {2x − 1,    x < 0; {2x + 1,    x ≥ 0

x = 0

144. For what value of 
 is the function


continuous at 
?

Watch Video Solution

k

f(x) = { ,    x ≠ 1k,    x = 1
x2 − 1

x − 1
x = 1

145. Determine the value of
 the constant 
 so that the function


 is continuous

at 
.

Watch Video Solution

k

f(x) = { ,     if  x ≠ 1) : {k,     if  x = 1
x2 − 3x + 2

x − 1

x = 1

https://dl.doubtnut.com/l/_uiuEstU9Dk1V
https://dl.doubtnut.com/l/_INme073T14CB
https://dl.doubtnut.com/l/_vclZebUVZuPk


146. For what value of 
 is the function


 continuous at 


?

Watch Video Solution

k

f(x) = { ,     if  x ≠ 0,      k,     if  x = 0
sin 5x

3x

x = 0

147. Determine the value of
 the constant 
 so that the function


is continuous at 
.

Watch Video Solution

k

f(x) = {kx2,     if  x ≤ 23,     if  x > 2 x = 2

148. Determine the value of
 the constant 
 so that the function


 is continuous at 


.

Watch Video Solution

k

f(x) = { ,     if  x ≠ 0    , k    if  x = 0
sin 2x

5x

x = 0

https://dl.doubtnut.com/l/_XiZGkkZjZOFx
https://dl.doubtnut.com/l/_jNqYsZweETlZ
https://dl.doubtnut.com/l/_ambFiq7TfgAC


149. Find the values of 
 so that the function

is

continuous at x=2

Watch Video Solution

a

f(x) = {ax + 5,     if  x ≤ 2

                                                                              x − 1,     if  x > 2  

150. Prove that the function


remains discontinuous
at 
, regardless the choice
of 
.

Watch Video Solution

f(x) = { ,    x ≠ 0k,    x = 0
x

|x| + 2x2

x = 0 k

151. Find the value of  if  is continuous at 
 , where 




Watch Video Solution

k f(x) x = π/2

f(x) = { , x ≠
k cos x

π − 2x

π

2

                     3,          x =
π

2

https://dl.doubtnut.com/l/_G7gU3x25bDq4
https://dl.doubtnut.com/l/_IXhxl1lpDkNZ
https://dl.doubtnut.com/l/_prXvHY7DAT0f
https://dl.doubtnut.com/l/_zLWE0bBq2Sgj


152. Determine the values of
 
 for which the function 

 , for  , for  ,

for 
is continuous at 

Watch Video Solution

a,  b,  c

f(x) = {
sin(a + 1)x + sinx

x
x < 0     `c  x = 0

√x + bx2

bx3 / 2

x > 0 x = 0

153. If  is continuous at x=0,

find k.

Watch Video Solution

f(x) = { , x ≠ 0         , x = 0
1 − cos kx
x sinx

1

2

154. If

is continuous at 
, find 
.

Watch Video Solution

f(x) = { + a,     if  x < 4, a + b    if  x = 4, + b,     i
x − 4

|x − 4|

x − 4

|x − 4|

x = 4 a,  b

https://dl.doubtnut.com/l/_zLWE0bBq2Sgj
https://dl.doubtnut.com/l/_6Wi7SN434F4l
https://dl.doubtnut.com/l/_MpScmdJuPxeq


155. For what value of 
 is the function


continuous at 
?

Watch Video Solution

k

f(x) = { ,    x ≠ 0k,    x = 0
sin 2x

x
x = 0

156. Let 
. Find the value of 

at 
so that 
becomes continuous at 
.

Watch Video Solution

f(x) = ,   x ≠ 0
log(1 + ) − log(1 − )x

a
x

b

x
f

x = 0 f x = 0

157. If 
is continuous at 
, find 
.

Watch Video Solution

f(x) = {
x ≠ 2

k x = 2

2x+ 2 − 16

4x − 16 x = 2 k

158. If 
 is continuous

at 
, find 

f(x) = { ,    x ≠ 0    k,    x = 0
cos2 x − sin2 x − 1

√x2 + 1 − 1

x = 0 k.

https://dl.doubtnut.com/l/_gZLxmSvI7os1
https://dl.doubtnut.com/l/_RH0WicnJqsQz
https://dl.doubtnut.com/l/_5axNTrK6w7A6
https://dl.doubtnut.com/l/_45rX306WhFWm


Watch Video Solution

159. Extend the definition
 of the following by continuity


at the point 
.

Watch Video Solution

f(x) =
1 − cos 7(x − π)

5(x − π)
2

x = π

160. If 
 , 
 is continuous at 
 , then find 

Watch Video Solution

f(x) =
2x + 3 sinx

3x + 2 sinx
x ≠ 0 x = 0

f(0)

161. Find the values of 
 for which


 is continuous at 


.

Watch Video Solution

k

f(x) = { ,    when x ≠ 0k,    when x = 0
1 − cos 4x

8x2

x = 0

https://dl.doubtnut.com/l/_45rX306WhFWm
https://dl.doubtnut.com/l/_xA0CKmj3TISq
https://dl.doubtnut.com/l/_gyLvkwXBbrjU
https://dl.doubtnut.com/l/_Epa1XbEZnqJN
https://dl.doubtnut.com/l/_Qb8yGAJ79Jij


162. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point: 
 at 

Watch Video Solution

k

f(x) = {
if x ≠ 0

8 if x = 0

1 − cos 2kx

x2

x = 0

163. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point:


at 

Watch Video Solution

k

f(x) = {
(x − 1)tan( )     if  x ≠ 1

k     if  x = 1

πx

2 x = 1

164. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point:


at 

Watch Video Solution

k

f(x) = {k(x2 − 2x),     if  x < 0 cos x,     if  x ≥ 0 x = 0

https://dl.doubtnut.com/l/_Qb8yGAJ79Jij
https://dl.doubtnut.com/l/_ag80OPbbjLTc
https://dl.doubtnut.com/l/_EMZ4X9K9Bfi9
https://dl.doubtnut.com/l/_k2vD9TYhFsxd


165. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point:


at 

Watch Video Solution

k

f(x) = {kx + 1,     if  x ≤ π cos x,     if  x > π x = π

166. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point:


at 

Watch Video Solution

k

f(x) = {kx + 1,     if  x ≤ 53x − 5,     if  x > 5 x = 5

167. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point: 

at 

Watch Video Solution

k

f(x) = { ,    x ≠ 5k,    x = 5
x2 − 25

x − 5

x = 5

https://dl.doubtnut.com/l/_k2vD9TYhFsxd
https://dl.doubtnut.com/l/_iEPij49YbFt7
https://dl.doubtnut.com/l/_qcaXbtEmBUnw
https://dl.doubtnut.com/l/_1F484WeW6w37


168. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point: 
 at 

Watch Video Solution

k

f(x) = {kx2,    x ≥ 14,    x < 1

x = 1

169. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point:


at 
.

Watch Video Solution

k

f(x) = {k(x2 + 2),     if  x ≤ 03x + 1,     if  x > 0 x = 0

170. Find the value of the
 constant 
 so that the given
 function is

continuous at the indicated point:


at 
.

Watch Video Solution

k

f(x) = { ,    x ≠ 2     k,    x = 2
x3 + x2 − 16x + 20

(x − 2)
2

x = 0

https://dl.doubtnut.com/l/_1F484WeW6w37
https://dl.doubtnut.com/l/_ASHB5xCZl51I
https://dl.doubtnut.com/l/_4zulvdzaTMmh
https://dl.doubtnut.com/l/_u3ETGGHE0X6p


171. Find the values of 
and 
so that the function 
given by ={1, if

x<=3,
ax+b , if 3 < x < 5,
7 if x >= 5 is continuous at x=3
and x=5
.

Watch Video Solution

a b f f(x)

172. If 

.Show that is continuous at 
.

Watch Video Solution

f(x) = { , if 0 ≤ x < 1, 2x2 − 3x + , if 1 ≤ x ≤ 2
x2

2
3
2

f x = 1

173. Discuss the continuity
 of the 
 at the indicated point:


at 
.

Watch Video Solution

f(x)

f(x) = |x| + |x − 1| x = 0,  1

174. Discuss the continuity
 of the 
 at the indicated point:


at 

Watch Video Solution

f(x)

f(x) = |x − 1| + |x + 1| x = − 1,  1.

https://dl.doubtnut.com/l/_u3ETGGHE0X6p
https://dl.doubtnut.com/l/_Gbkp4YHzHhvD
https://dl.doubtnut.com/l/_HOUZDAUvSWSp
https://dl.doubtnut.com/l/_tOHDbm4gwzAf


175. Prove that 
is discontinuous at 
.

Watch Video Solution

f(x) = {
x ≠ 0

2 x = 0

x− |x |

x x = 0

176. If 



, then what should be
the value of 

so that 
is continuous at 
.

Watch Video Solution

f(x) = {2x2 + k    ,      if  x ≥ 0

               − 2x2 + k    ,      if  x < 0 k

f(x) x = 0

177. For what value of 
 is the function

continuous at 
? What about the
continuity at 
?

Watch Video Solution

λ

f(x) = {λ(x2 − 2x)    ,      if  x ≤ 04x + 1    ,      if  x > 0

x = 0 x = ± 1

https://dl.doubtnut.com/l/_tOHDbm4gwzAf
https://dl.doubtnut.com/l/_5mWPTiwF0LrM
https://dl.doubtnut.com/l/_w4sHJfVQGJWl
https://dl.doubtnut.com/l/_U5LmyzvfXVf7


178. For what value of 
 is the following
 function continuous at 
?








Watch Video Solution

k x = 2

f(x) = {2x + 1   ;     if  x < 2

                 k   ;    x = 2

                 3x − 1   ;    x > 2

179. Let 
 . If 
 is

continuous at 
b(1-sinx)/(pi-2x)^2, if x>pi/2
find  and b.
.

Watch Video Solution

f(x) = { if x < , a if x =
1 − sin3 x

3 cos2 x

π

2

π

2
f(x)

x =
π

2
a

180. If the functions 
, defined below is
continuous at 
, find the

value of 

Watch Video Solution

f(x) x = 0

k :

f(x) = {    ,    x < 0     k,    x = 0,    ,    x > 0
1 − cos 2x

2x2

x

|x|

https://dl.doubtnut.com/l/_vJbJCWgnSNsW
https://dl.doubtnut.com/l/_dRnvuel0m71R
https://dl.doubtnut.com/l/_mMgarSaRSJDL
https://dl.doubtnut.com/l/_X3EaEjbsIhSD


181. Find the relationship
 between 
 and 
 so that the function 

defined by 
 is

continuous at 
.

Watch Video Solution

' a' ' b' ' f'

f(x) = {ax + 1   ,     if  x ≤ 3bx + 3   ,     if  x > 3

x = 3

182. If a function 
is defined as 

Show that 
is everywhere
continuous except at 
.

Watch Video Solution

f f(x) = {    ,    x ≠ 40   ,    x = 4
|x − 4|

x − 4

f x = 4

183. Discuss the continuity of the function

Watch Video Solution

f(x) = { , if x < 0x + 2, if x ≥ 0
sin 2x

x

https://dl.doubtnut.com/l/_X3EaEjbsIhSD
https://dl.doubtnut.com/l/_t0mSfqa5Wtid
https://dl.doubtnut.com/l/_FEKyIk6zaXwk


184. Discuss the continuity
 of the function


.

Watch Video Solution

f(x) = {    ,     if  x ≠ 00   ,     if  x = 0
|x|

x

185. Discuss the continuity of the function 
 given by

Watch Video Solution

f(x)

f(x) = {2x − 1, if x < 02x + 1, if x ≥ 0

186. Show that the function 
 defined by 
 is

everywhere
continuous.

Watch Video Solution

f f(x) = |1 − x + |x ∣ ∣

187. Prove that 
is continuous for all 
.

Watch Video Solution

f(x) = √|x| − x x ≥ 0

https://dl.doubtnut.com/l/_JVLzYPX13vP8
https://dl.doubtnut.com/l/_0iKCyDujKJWf
https://dl.doubtnut.com/l/_83WQqaEWJ0c7
https://dl.doubtnut.com/l/_OQQ62dkVuNr6


188. Given 
 . Find the points of
 discontinuity of the

composite function 
.

Watch Video Solution

f(x) =
1

x − 1

f(f(x))

189. Determine the value of
 the constant 
 so that the function


is continuous.

Watch Video Solution

k

f(x) = {kx2   ,     if  x ≤ 23   ,     if  x > 2

190. Determine the value of
 the constant 
 so that the function


is continuous.

Watch Video Solution

m

f(x) = {m(x2 − 2x)      if  x < 0,    cos x   if  x ≥ 0

https://dl.doubtnut.com/l/_OQQ62dkVuNr6
https://dl.doubtnut.com/l/_xtKfzaFCfbn5
https://dl.doubtnut.com/l/_hFdaQ9epab2k
https://dl.doubtnut.com/l/_je5E4kpwZ9ea


191. If

a b`so that f(x)
is continuous.

Watch Video Solution

f(x) = {3ax + b if x > 1, 11 if x = 1, 5ax − 2b, if x < 1. Deter m

and

192. Prove that the function


is everywhere
continuous.

Watch Video Solution

f(x) = {    ,    x < 0    x + 1   ,    x ≥ 0
sinx

x

193. Discuss the continuity
 of the function


.

Watch Video Solution

f(x) = {    ,    x ≠ 00   ,    x = 0
x

|x|

https://dl.doubtnut.com/l/_56stkqamVVyO
https://dl.doubtnut.com/l/_p5YkePDjMhkI
https://dl.doubtnut.com/l/_9kC4Zgv0W2uS


194. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {[x3 − x2 + 2x − 2   ,     if  x ≠ 1], [4       if  x = 1]

195. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {    ,     if  x ≠ 2    16   ,     if  x = 2
x4 − 16
x − 2

196. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {    ,     if  x < 02x + 3   ,    x ≥ 0
sinx

x

197. Find the points of
 discontinuity, if any, of the following function:

f(x) = {    ,     if  x ≠ 04   ,     if  x = 0
sin 3x

x

https://dl.doubtnut.com/l/_2qF18roJhkE0
https://dl.doubtnut.com/l/_ZsQgutUf5lk9
https://dl.doubtnut.com/l/_JcI4FOfiTgKA
https://dl.doubtnut.com/l/_1V31PRwNKOWx


Watch Video Solution

198. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = { + cos x   ,     if  x ≠ 0k   ,     if  x = 0
sinx

x

199. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {    ,     if  x ≠ 0, 0   ,     if  x = 0
x4 + x3 + 2x2

tan− 1x

200. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {    ,     if  x ≠ 0     7   ,     if  x = 0
ex − 1

(log)e(1 + 2x)

https://dl.doubtnut.com/l/_1V31PRwNKOWx
https://dl.doubtnut.com/l/_4YUQi1NjIGUg
https://dl.doubtnut.com/l/_QIKvcclHuuUv
https://dl.doubtnut.com/l/_tAIP2iy3sEw5


201. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {|x − 3|  ,     if  x ≥ 1 − +    ,     if  x < 1
x2

4

3x

2

13

4

202. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {|x| + 3 if x ≤ − 3, − 2x, if − 3 < x < 3, 6x + 2, if x >

203. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {x10 − 1   ,     if  x ≤ 1x2   ,     if  x > 1

204. Find the points of
 discontinuity, if any, of the following function:

f(x) = {2x   ,     if  x < 00   ,     if  0 ≤ x ≤ 14x   ,     if  x > 1

https://dl.doubtnut.com/l/_RjNheQRJBlMo
https://dl.doubtnut.com/l/_KBTvTY1PHpLB
https://dl.doubtnut.com/l/_0MYO44TkH6R5
https://dl.doubtnut.com/l/_jIiOmODiGpOu


Watch Video Solution

205. Find the points of
 discontinuity, if any, of the following function:

Watch Video Solution

f(x) = {sinx − cos x   ,     if  x ≠ 0      − 1   ,     if  x = 0

206. Find the points of discontinuity, if any, of the following function:

Watch Video Solution

f(x) = { − 2 if x ≤ − 1, 2x if − 1x < 1, 2 if x ≥ 1

207. Determine the value(s)
 of constant(s) involved in the definition so

that the given function is
 continuous:

Watch Video Solution

f(x) = {    ,     if  x ≠ 03k   ,     if  x = 0
sin 2x

5x

https://dl.doubtnut.com/l/_jIiOmODiGpOu
https://dl.doubtnut.com/l/_QrgBBpmVPOnC
https://dl.doubtnut.com/l/_TwGvdQjTrBUi
https://dl.doubtnut.com/l/_QVf6gZwBKi0J
https://dl.doubtnut.com/l/_hHjTcq8mLTpX


208. Determine the value(s)
 of constant(s) involved in the definition so

that the given function is
 continuous:

Watch Video Solution

f(x) = {kx + 5   ,     if  x ≤ 2     x − 1   ,     if  x > 2

209. Determine the value(s)
 of constant(s) involved in the definition so

that the given function is
 continuous:

Watch Video Solution

f(x) = {k(x2 + 3)   ,     if  x < 0 and     cos 2x   ,     if  x ≥ 0

210. Determine the value(s)
 of constant(s) involved in the definition so

that the given function is
 continuous:

Watch Video Solution

f(x) = {2, if x ≤ 3, ax + b, if 3 < x < 5, 9, if x ≥ 5

https://dl.doubtnut.com/l/_hHjTcq8mLTpX
https://dl.doubtnut.com/l/_Tz1pEyfH8DcW
https://dl.doubtnut.com/l/_jPHRIiBhvYTA


211. Determine the value(s)
 of constant(s) involved in the definition so

that the given function is
 continuous:

Watch Video Solution

f(x) = {4   ,     if  x ≤ − 1,    ax2 + b   ,     if x > − 1

212. Find the value of 
 for which


is continuous at 

Watch Video Solution

k,

f(x) =
⎧
⎨
⎩

if − 1 ≤ x < 0

0 ≤ x < 1

√1 +kx−   √1 −kx

x

2x+ 1

x− 1

x = 0

213. Determine the equation so that the given function is
 continuous:

{5 if x <= 2, ax+b, `

Watch Video Solution

f(x) = if x > 2

https://dl.doubtnut.com/l/_WcgRgRPvhx8H
https://dl.doubtnut.com/l/_X3yL5nrtwWPC
https://dl.doubtnut.com/l/_KPLGUT8F9Kxt


214. Find the value of k so that the function f defined by


is continuous at 

Watch Video Solution

f(x) = { , if  x  ≠      3,if x =
k cos x
π − 2x

π

2

π

2
x =

π

2

215. The function

 is continuous

then find the value of constant term

Watch Video Solution

f(x) = {     ,     if  0 ≤ x < 1       a   ,     if  1 ≤ x
x2

a

216.

. Determine the value of a and b If function is continuous for interval

Watch Video Solution

f(x) = {x + √2a sinx, 0 < x < and 2x cot x + b, ≤ x < and a
π

4

π

4

π

2

[0, π]

https://dl.doubtnut.com/l/_YfQ18CAfq4Ov
https://dl.doubtnut.com/l/_HNFRvYBIE4OR
https://dl.doubtnut.com/l/_3cIolXSl28Dt
https://dl.doubtnut.com/l/_74nrgfQzgfkK


217. The function  is defined by

f is continuous them determine the value of a and b

Watch Video Solution

f(x)

f(x) = {x2 + ax + b   ,    0 ≤ x < 2,     3x + 2   ,    2 ≤ x ≤ 4,   2ax + 5b   

218. If 
 for 
 find the value which can be

assigned to 
 at 
 so that the function 
 becomes

continuous every where
in 

Watch Video Solution

f(x) =
tan( − x)π

4

cot 2x
x ≠ ,

π

4

f(x) x =
π

4
f(x)

[0, ].
π

2

219. Discuss the continuity of the function 

Watch Video Solution

f(x) = {2x − 1

, if x < 2, if x ≥ 2
3x

2

https://dl.doubtnut.com/l/_74nrgfQzgfkK
https://dl.doubtnut.com/l/_Y7NYkOR1JTEX
https://dl.doubtnut.com/l/_VadYOM9pvQdi


220. Find 
.

Watch Video Solution

if y = x − y − 2x2dy

dx

221. Prove that the function


is everywhere
continuous.

Watch Video Solution

f(x) = {    ,    x < 0,  x + 1   ,    x ≥ 0
sinx

x

222. Show that the function defined by  is discontinuous

at all integral points. which [x] denotes the greatest integer function.

Watch Video Solution

g(x) = x − [x]

223. Find the derivative if 

Watch Video Solution

f(x) = sinx + cos x

https://dl.doubtnut.com/l/_uWJchnnY0dCA
https://dl.doubtnut.com/l/_0ha1DHLViCyZ
https://dl.doubtnut.com/l/_bwdbe69j2GTS
https://dl.doubtnut.com/l/_GEg2JivV3LrE
https://dl.doubtnut.com/l/_zDhAD2o3kHEy


224. Find the derivative of 

Watch Video Solution

f(x) = sinx − cos x

225. Find 

Watch Video Solution

f' (x) if f(x) = sinx cos x

226. Find 

Watch Video Solution

f' (x) if f(x) = cos(x2)

227. Find 

Watch Video Solution

if x + x7 = 2y
dy

dx

https://dl.doubtnut.com/l/_zDhAD2o3kHEy
https://dl.doubtnut.com/l/_rPUwzMw1TrZj
https://dl.doubtnut.com/l/_L1T7EPD6vpv0
https://dl.doubtnut.com/l/_shv4kmiZaTIs


228. Find all the points of discontinuity of f defined by


.

Watch Video Solution

f(x)  = |x|-|x+1∣

229. Determine if f defined by

 is a continuous

function?

Watch Video Solution

f(x) = {x2 sin( ), if x ≠ 0, 0 if x = 0
1

x

230. Given the function 
 . Find the points of discontinuity

of the function 

Watch Video Solution

f(x) =
1

x + 2

f(f(x))

https://dl.doubtnut.com/l/_lUhGcYnxcbnp
https://dl.doubtnut.com/l/_0KHLsVrcxVev
https://dl.doubtnut.com/l/_Qm87RkZa4H3w


231. Find all point of discontinuity of the function 

where 

Watch Video Solution

f(t) = ,
1

t2 + t − 2

t =
1

x − 1

232. Define continuity of a
function at a point.

Watch Video Solution

233. What happens to a
 function 
 at 
 , if 

Watch Video Solution

f(x) x = a

( lim )x→ af(x) = f(a)

234. Find 
 , so that 
 becomes continuous at 


.

Watch Video Solution

f(0) f(x) =
x

1 − √1 − x

x = 0

https://dl.doubtnut.com/l/_Clww5pFwjuY1
https://dl.doubtnut.com/l/_tdU1SucWxZZE
https://dl.doubtnut.com/l/_zufUQY0VMsw7
https://dl.doubtnut.com/l/_WK8aiYW3H3Vn


235. The function 
 is continuous of 


(a) 3 (b)
6 (d) 9 (d) 12

Watch Video Solution

f(x) = {
x ≠ 0

x = 0

sin 3x
x

k

2

x = 0, thenk =

236. If the function 
, 
 is continuous at 
 , find 


.

Watch Video Solution

f(x) =
sin 10x

x
x ≠ 0 x = 0

f(0)

237. If 
 is continuous at 


, find 

Watch Video Solution

f(x) = { , if  x ≠ 4k , if  x = 4
x2 − 16

x − 4

x = 4 k.

https://dl.doubtnut.com/l/_WK8aiYW3H3Vn
https://dl.doubtnut.com/l/_50YVXpsLolnj
https://dl.doubtnut.com/l/_7zx9sJGmB6r7
https://dl.doubtnut.com/l/_y1H7jAITtrNo


238. Determine whether 
 is

continuous at 
or not.

Watch Video Solution

f(x) = {    ,    x ≠ 00   ,    x = 0
sinx2

x

x = 0

239. If 
is continuous at 

, find 

Watch Video Solution

f(x) = {    ,    x ≠ 0k   ,    x = 0
1 − cos x

x2
x = 0

k.

240. If 
 is continuous at 
 ,

write the value of 

Watch Video Solution

f(x) = {    ,    x ≠ 0k   ,    x = 0
sin− 1 x

x
x = 0

k.

241. Write the value of 
 for which f(x)={5x-4,when0 < x <= 1, 4x^2+3bx

,when 1 < x< 2
is continuous at 

b

x = 1

https://dl.doubtnut.com/l/_XZHYYl2dZcFn
https://dl.doubtnut.com/l/_Kukc5FIGfs4R
https://dl.doubtnut.com/l/_x6ocmoKCY1po
https://dl.doubtnut.com/l/_SCh7IP9XlkeH


Watch Video Solution

242. The function 
 (a) discontinuous at only one point

(b) discontinuous exactly at two points
(c) discontinuous exactly at three

points
(d) none of these

Watch Video Solution

f(x) =
4 − x2

4x − x3

243. If 
 , where 
 is continuous function,
 then



 (b) 
 (c) 
 (d) none

of these

Watch Video Solution

f(x) = |x − a|φ(x)  φ(x)

f' (a+ ) = φ(a) f ′ (a− ) = − φ(a) f ′ (a+ ) = f' (a− )

244. If 
 
 is continuous and 


 
 is continuous and 
 
 is

f(x) = ∣∣(log)10x∣∣, thenatx = 1 f(x)

f ′ (1+ ) = (log)10e f(x) f ′ (1+ ) = (log)10e f(x)

https://dl.doubtnut.com/l/_SCh7IP9XlkeH
https://dl.doubtnut.com/l/_T0v19C15C0QA
https://dl.doubtnut.com/l/_CdM6VWH6DVDr
https://dl.doubtnut.com/l/_bnddsPLEHAvK


continuous and 
 
 is continuous and 

Watch Video Solution

f ′ (1− ) = (log)10e f(x)

f ′ (1− ) = − (log)10e

245. If 
 is continuous at 


then 
equal to

Watch Video Solution

f(x) = { , x ≠ 0   k, x = 0
36x − 9x − 4x + 1

√2 − √1 + cos x

x = 0, k

246. If 
 defined by .
 Then (A)f(x) is

continuous for all 
 (B) for all  except 
 (C) for all  except 

(D) for all  except  and 

Watch Video Solution

f(x) f(x) = { , x ≠ 0, 1 − 1
∣∣x2 − x∣∣

x2 − |x|

x x x = 0 x x = 1

x x = 0 x = 1

https://dl.doubtnut.com/l/_bnddsPLEHAvK
https://dl.doubtnut.com/l/_CLpB4HKYV4oG
https://dl.doubtnut.com/l/_EzQqKUygPncH


247. If

is continuous at 
 
(b) 
(c) 
(d) 

Watch Video Solution

f(x) = { , x ≠ , k atx =
1 − sinx

(π − 2x)2

.
log sinx

(log(1 + π2 − 4πx + 4x2))

π

2

π

2

x = , thenk =
π

2
−

1

16
−

1

32
−

1

64
−

1

28

248. If 
be continuous at 
the 
is equal to

Watch Video Solution

f(x) = (x + 1)cot x
x = 0, f(0)

249. If

and 
 is continuous at 
 , then the value of 
 is
 
 (b) 

(c) 
(d) none of these

Watch Video Solution

f(x) = {    ,    x ≠ 0,       k              ,            x = 0
log(1 + ax) − log(1 − bx)

x

f(x) x = 0 k a − b a + b

loga + log b

https://dl.doubtnut.com/l/_vw6e5gGq2AYG
https://dl.doubtnut.com/l/_RQIvfTojBzrg
https://dl.doubtnut.com/l/_gHjAmSpSE6I4


250. The function 
at 

Watch Video Solution

f(x) = { , x ≠ 0       0, x = 0
e − 1

1
x

e + 1
1
x

x = 0

251. Let

Then 
is continous at 
when

Watch Video Solution

f(x) = { + a, x < 4    a + b, x = 4      , + b, x > 4
x − 4

|x − 4|

x − 4

|x − 4|

f(x) x = 4

252. If the function
 
 is continuous at 


, then the value of 
is
(a) 
(b) 
(c) 
(d) None of these

Watch Video Solution

f(x) = {(cos x) , x ≠ 0k, x = 0
1
x

x = 0 k 0 1 −1

253. Let 
 then
 (a) 
 is continuous at 
 as

well at 
(b) 
is continuous at 
but not at 
(c) 
is

f(x) = |x| + |x − 1|, f(x) x = 0,

x = 1 f(x) x = 0, x = 1 f(x)

https://dl.doubtnut.com/l/_tH69URAEA97Y
https://dl.doubtnut.com/l/_FtMLWkDI8j9a
https://dl.doubtnut.com/l/_S5Nc3zWq0OYg
https://dl.doubtnut.com/l/_DQaOxmSxFNKE


continuous at 
but not at 
(d)none of these

Watch Video Solution

x = 1, x = 0

254. Let

. Then, 
 is continuous on the
 set
 
 (b) 
 (c) 
 (d) 

Watch Video Solution

f(x) = {     ,    x ≠ 1,  16             ,    x = 1,     12,    x = 2
x4 − 5x2 + 4

|(x − 1)(x − 2)|

f(x) R R − {1} R − {2}

R − {1,  2}

255. If

is continuous at 
 (a). 
 (b) 


 (c) 
 (d) none

of these

Watch Video Solution

f(x) = f(x) = { , , x < 0, c atx = 0,
sin(a + 1)x + sinx

x

√x + bx2 − √x

bx√x

x = 0, then a = − , b = 0, c =
3
2

1
2

a = − , b = 1, c = −
3
2

1
2

a = − , b ∈ R − [0], c =
3
2

1
2

https://dl.doubtnut.com/l/_DQaOxmSxFNKE
https://dl.doubtnut.com/l/_eFOOaQxWOYBQ
https://dl.doubtnut.com/l/_nsyqB1r64fSs


256. If 
 is

continuous at 
, then

Watch Video Solution

f(x) = {mx + 1   ,    x ≤ ,      sinx + n   ,    x >
π

2

π

2

x =
π

2

257. The value of 
 so that the function


 becomes continuous for all 


given by
 
(b) 
(c) 
(d) 

Watch Video Solution

f(0),

f(x) =
√a2 − ax + x2 − √a2 + ax + x2

√a + x − √a − x

x, a
3
2 a

1
2 −a

1
2 −a

3
2

258. The value of 
 so that the function 


 is continuous, is given by
 (a) 
 (b)

6
(c) 2 (d) 4

Watch Video Solution

f(0),

f(x) = (x ≠ 0)
(27 − 2x) − 3

1
3

9 − 3(243 + 5x)
1 / 5

2

3

https://dl.doubtnut.com/l/_jtics9HSdCZh
https://dl.doubtnut.com/l/_QYAj27pJuXwZ
https://dl.doubtnut.com/l/_w3BIudfmYJWs


259. The value of 
 so that the function


 is continuous everywhere, is given by



(b) 1 (c) 26 (d) none of these

Watch Video Solution

f(0)

f(x) = , x ≠ 0
2 − (256 − 7x)

1
8

(5x + 32)
1 / 5

− 2

−1

260. 

is continuous in the interval 
then 
 is equal to
 
 (b) 
 (c) 


(d) 1

Watch Video Solution

f(x) = { , − 1 ≤ x < 0 , 0 ≥ x ≥ 1
√1 + px − √1 − px

x

2x + 1

x − 2

[ − 1, 1], p −1 −
1

2
1

2

261. The function  is

continuous then find the value of constant term

Watch Video Solution

f(x) = {x2a     ,      0 ≤ x < 1,     a,            1 ≤ x

https://dl.doubtnut.com/l/_KikhIk6uJADX
https://dl.doubtnut.com/l/_BeD5yJQkIi7K
https://dl.doubtnut.com/l/_omRV8gzfCCFk


262. If 
the 
will be

continuous function at 
 
 (b) 
 (c) 
 (d) none of

these

Watch Video Solution

f(x) = , whenx ≠ andf( ) = λ,
1 − sinx

(π − 2x)2

π

2

π

2
f(x)

x = , whereλ =
π

2

1

8

1

4

1

2

263. The value of a for which the function


 may

be continuous at 
is
1 (b) 2 (c) 3 (d)
none of these

Watch Video Solution

f(x) = f(x) = { , x ≠ 012(log 4)3, x = 0
(4x − 1)3̂

sin(xa)log{(1 + x23)}

x = 0

264. The function 
is discontinuous on the set

Watch Video Solution

f(x) = tanx

https://dl.doubtnut.com/l/_7RwkcuFVcGYT
https://dl.doubtnut.com/l/_crsueLkLhESJ
https://dl.doubtnut.com/l/_vf4ioAZ9I7Yf


265. The function 
 is continuous of 


3 (b)
6 (d) 9 (d) 12

Watch Video Solution

f(x) = { , x ≠ 0 , x = 0
sin 3x

x

k

2

x = 0, thenk =

266. If the function 
is continuous at each point of

its domain, then the value of 
(a) 2 (b) 
(c) 
(d) 

Watch Video Solution

f(x) =
2x − sin− 1 x

2x + tan− 1 x

f(0)
1

3
−

1

3

2

3

267. The value of 
for which the function `f(x)={5x-4\ \ \ ,\ \ \ if\ 0

Watch Video Solution

a

268. If 
 then the set of points discontinuity of the

function 
{1} (b) {0,1} (c)
{-1,1} (d) none of
these

Watch Video Solution

f(x) = ,
1

1 − x

f(f(f(x)))is

https://dl.doubtnut.com/l/_wIKV7fC8M001
https://dl.doubtnut.com/l/_8aG6aJyDOwAu
https://dl.doubtnut.com/l/_igrmnoNhelKS
https://dl.doubtnut.com/l/_Qike291bgQIK


269. Let 
 . The value which should be

assigned to 
at 
 so that it is continuous everywhere is
 1 (b) 


(c) 2
(d) none of these

Watch Video Solution

f(x) = , x ≠
tan( − x)π

4

cot 2x

π

4

f(x) x = ,
π

4
1

2

270. The function 
is not defined for 

In order to make 
continuous at 
should be defined as
0

(b)
1 (c) 2
(d) 3

Watch Video Solution

f(x) =
x3 + x2 − 16x + 20

x − 2
x = 2.

f(x) x = 2, f(2)

271. If
 
 is

continuous at 
, then a equal
 
(b) 
(c) 
(d) 

Watch Video Solution

f(x) = {a (x + 1), , x ≤ 0 , x > 0
sinπ

2

tanx − sinx

x3

x = 0
1

2

1

3

1

4

1

6

https://dl.doubtnut.com/l/_Qike291bgQIK
https://dl.doubtnut.com/l/_oawL773C4bPX
https://dl.doubtnut.com/l/_Qns2cehgXDW1
https://dl.doubtnut.com/l/_dF2RgCHzECWO


272. If `f(x)={a x^2+b ,0lt=x<1 4,x=1x+3,1

Watch Video Solution

273. If the function 
 defined by


 is

continuous at 
, then 
(a) 1 (b) 5 (c) -1 (d) none of these

Watch Video Solution

f(x)

f(x) = {    ,    x ≠ 0              k,        x = 0
log(1 + 3x) − log(1 − 2x)

x

x = 0 k =

274. If

, then the value of 
so that 
may be continuous at 
 , is
 (a) 25

(b) 50 (c) -25 (d) none of these

Watch Video Solution

f(x) = { , x < 0       a,    x = 0    ,    x > 0
1 − cos 10x

x2

√x

√625 + √x − 25

a f(x) x = 0

https://dl.doubtnut.com/l/_bmcAkekQF1qH
https://dl.doubtnut.com/l/_8TToPWlakbHp
https://dl.doubtnut.com/l/_iupK5PnJrD5r


275. If 
 , then the value of the
 function at 


, so that the function
is continuous at 
, is
(a) 0 (b) -1 (c) 1 (d)

indeterminate

Watch Video Solution

f(x) = x sin( ),  x ≠ 0
1

x

x = 0 x = 0

276. The value of 
 which makes


8 (b)
1 (c) 
(d)

none of these

Watch Video Solution

k

f(x) = { , x ≠ 0k, x = 0cont ∈ uousatx = 0, is
sin 1

x
−1

277. The values of the constants 
 for which the function


may be continuous at 
are

Watch Video Solution

a, b, c

f(x) =
⎧
⎨⎩(1 + ax)1 /x, x < 0 and , x > 0 and b, x = 0

(x + c) − 1
1
3

(x + 1) − 1
1
2

x = 0,

https://dl.doubtnut.com/l/_PPxdgPR1NRjG
https://dl.doubtnut.com/l/_OHWaYEOBfmWA
https://dl.doubtnut.com/l/_2IPVfoATrogC


278. The points of
 discontinuity of the function

Watch Video Solution

f(x) = {2√x   ,    0 ≤ x ≤ 1,   4 − 2x   ,    1 < x

279. If
  then f(x)
 is continuous at 

,if

(a) 
(b) 
(c) 
(d) none of these

Watch Video Solution

f(x) =

⎧⎪
⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪
⎪⎩

x <

a x =

x >

⎫⎪
⎪
⎪
⎪
⎪
⎬
⎪
⎪
⎪
⎪
⎪⎭

1 − sin2 x

3 cos2 x

π

2
π

2

b ( 1 − sin x )

( π− 2x ) 2

π

2

x =
π

2

a = , b = 2
1

3
a = , =

1

3

8

3
a = , b =

2

3

8

3

280. The points of
 discontinuity of the function

Watch Video Solution

f(x) = {  (2x2 + 3) ,   x ≤ 1,   6 − 5x,   1 < x
1

5

https://dl.doubtnut.com/l/_lob1yEqvPFuC
https://dl.doubtnut.com/l/_uW5hflW7jmjl
https://dl.doubtnut.com/l/_LjAJgQLTmZpL


281. The value of 
for which the function `f(x)={5x-4\ \ \ ,\ \ \ if\ 0

Watch Video Solution

a

282. If 
 is

continuous at 
, then 
is equal to
(a) 0 (b) 
(c) 1 (d) -1

Watch Video Solution

f(x) = {    ,    x ≠               k    , x =
sin(cos x) − cos x

(π − 2x)2

π

2

π

2

x =
π

2
k

1

2

https://dl.doubtnut.com/l/_1Def3nF76Q7Z
https://dl.doubtnut.com/l/_HZrTN5ka6dSF

